
 

20240902 Digital Circuits Week 06

Previous example continued

Design a digital logic which can identify if an integer

0 9 is a prime number no calculation here

Convert to a boolean form A B C D Z

4 inputs are needed
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More no of 1s may not always result in a

more complex expression
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You will have to add some more
rules for quads and octet
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If minimization was not done Gyth
what would happen to the small narrow

glitch pulse that is
undesirable when

changing inputs
chips billions
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Next class What should be done to avoid this

What should not be done when aggressively

minimizing the 0P

JoyMekerly

2024 0902
delays can be different

my
glitch

not a useful thing to
have

Solution everytime you change you wait till all gates

are stable



e.g
TUTELI

Problems
there can be many glitches spark

Cascading effect
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Everytime there is a transition

capacitors charge discharge
charging a

capactor using
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treating
Energy is lost even

whenthe switch
is ideal
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affiliatedelay of various paths using buffers

Other way to avoid glitch
consensus term
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Aggressively minimizing the no of terms increases delay

Implementing using sum of products
ABC
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A 0 0 no
no glitch

glitches cannot occur
b w 0 to 0

A 1 110 0 to
and gate

v r
possible not possible

For SOP realisation only static 1 hazard is possible
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